function Y = cost_function(x,bl,b2,omega,G_data,Kp,Ki)

al=x(1);
a2=x(2);
a3=x(3);

G tf([b1,0,b2,0],[1, al, (a2+Kpxbl), (a3 + Kixbl), Kpxb2, Kixb2]);
G = minreal(G);

[gain_est,phase_est] = bode(G,omega);

gain_est = squeeze(gain_est)';

phase_est = squeeze(phase_est)'/180%pi;% deg Z rad [CZi

G_est=gain_est.*xexp(likxphase_est);% estimate

pole_max = max(real(pole(G)));% MDEILODRERXENETRITNIEESKEN

&
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%Y1 = norm(logl@(1 + 10 * abs(G_data - G_est)),2);%

%Y1 = norm(G_data - G_est,inf);
Y1 = norm((G_data - G_est)./sqrt(abs(G_data)),2);% T—FHHLEh LR

5, BEAffERNTE

2 =0;
Y2 = norm(logl@(gain_est) - logl@(abs(G_data)),1)/length(gain_est);
GainMiad;

2 = norm(logl@(gain_est) - logl@(abs(G_data)));% GainDE
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EERED, BOT1YDEETHERETRITNIERS KN

Kp=4; Ki=2;

G = tf([b1,0,b2,0],[1, al, (a2+Kpxbl), (a3 + Kixbl), Kpxb2, Kixb2]);
G = minreal(G);

pole_max2 = max(real(pole(G)));% WMOEILDRAENATRITNIXRSERL

% EBRLD, BOTAYDBETHRETRITNIEES AN

Kp=10; Ki=10;

G = tf([b1,0,b2,0],[1, al, (a2+Kpxbl), (a3 + Kixbl), Kpkb2, Kikb2]);
G = minreal(G);

pole_max3 = max(real(pole(G)));% BMDEIHDRAENE TRITNIERSHL

%% JANDEE

if pole_max >= @ || pole_max2 >= @ || pole_max3 >= 0
Y =Yl + Y2/100 + 10"10;

else
Y = Y1 + Y2/100;

end






